Lecture 1 Notes

Exercise 1: For each of the following digital communication
services identify the source, sink and the channel(s) involved:
the Ethernet connection between a computer and a router; a
cell phone call ; watching a YouTube video at home.
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Exercise 2: What units would be used to specify error rate, e NN/ -F“—*"C- S- <oy

delay, and delay variability? For each of the following data Jotal S. e
sources/sinks identify the relative data rate variability and the measvre
tolerance it is likely to have to errors, to the absolute delay b
- — bits
and to the delay variability: a phone call between two people, = e A
o
downloading a computer program, streaming a video over a $

computer network. Try to estimate typical values.
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